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Which of the following statements about the | #HRd #H fam & sfAgm 3R awad & Ik H
history and governance of education in|farfaf@a & q s a1 Fu gl %‘?

India is correct? a) ARG WX AAfATA 1935 o RA&w S FHEA

a) The Government of India Act 1935 placed Oy #H @]
education in the concurrent list. b) 1976 H 429 IUTaeh Ml & fem & U=
The 42nd constitutional amendment in 1976 = ﬁ-;zmqﬁﬁia'aﬂjﬁﬁq”
moved education to the State list. c) STeTaT qrét o frem Fr I3 '\’:Ic'\ih' F agg oS &
The Janata Party successfully passed the T 44 é'¥ﬁﬁﬂﬁ?¥ ﬁ?ﬁﬂa‘aﬁ Hqummqéqa‘ﬂfRT
44th constitutional amendment to move ﬁ?zﬂl h

d) ool g afafa o mIraered & ekl "fRer &
AT A A TG HT QIR F|

education back to the State list.
The Swaran Singh Committee recommended

placing '"education" in the concurrent

list during the Emergency.

By BHUNESH SIR



By BHUNESH SIR Explanation

Answer (D)

Explanation: The Swaran Singh RET: Wi g 9fAfd 7 39 dgara
Committee recommended this change, Dl RGBT B, 3R 429 TMeT A
and the 42nd amendment moved fRre &Y qHadl Gt H REaRd &R

education to the concurrent list.




Which of the following statements about the

International North-South Transport

Corridor (INSTC) is correct?

1. The INSTC connects India with Russia

through Central Asia and the Middle East.

2. It aims to reduce transit time and costs

for goods transport Dbetween India and
Europe.
3. The corridor primarily involves air

transport routes.

Select the correct answer using the code
below:

a) 1 and 2 only

b) 2 and 3 only

c) 1 and 3 only

2

FHAUSET IT-gfAr gRagsr afoaR (INSTC) & &R
¥ Aafaf@a & @ sl a1 Faa w@ &

1. INSTC HRd & HEY UREAT 3R #AEI qd & HACIH
T & F Aear gl

2. SHPT 3ee¥ AR AR JU9 & T AT IRagd &
foIT IRIAT HT 3R APTd I hA AT g

3. HIRSK H ALY &I § gdls IRAeT HAMET AT &
A9 R a0 FT & 9@ FF G ZWH H GIA
ST

) Hhdd 1 3R 2

hdel 2 3R 3

hael 1 3K 3

1, 2 3R 3

o w

)
c)
)

d



By BHUNESH SIR

Explanation: The [INSTC connects
India with Russia through Central Asia
and the Middle East and aims to reduce
transit time and costs. It does not

primarily involve air transport routes.

D CIELET]Y

Answer (A)

ARAT: INSTC HRA Dl T TRET
3R A qd & H1e9H ¥ 9 I Sired]
2 3R 3UPT I URTHA T 3R
AN Dl HH HRAT 6. 391 &I ¥4
3 gaTs URag AF =MHd 6! g |




Which of the following statements regarding

remittance inflow to India in 2024 1is

correct?
1. India 1s projected to remain the top
reciplent of remittances globally.
Remittance inflows significantly
contribute to India's GDP.
The majority of remittances come from
Europe.
Select the correct answer using the code
below:
a) 1 and 2 only
b
c) 1 and 3 only

)
) 2 and 3 only
)
)

d

1, 2 and 3

2024 H HRAT H 9T Yaig & ey A efaf@a &
¥ &l AT YT TE 82

1. ARG & A TR W 99T F AV grededhdr
@A AT ITA g

2. UNUT YdI§ HARA & Hebhol e[ 3cUlGc H Hgeaqor
ATEIT Sl gl

3. I Y9OT |WI F 30T B

A9 R a0 FT & 9@ FF G ZWH H GIA
HIforT:

) Hhdd 1 3R 2

hdel 2 3R 3

had 1 3R 3

1, 2 3R 3

)
c)
)

d




By BHUNESH SIR

Explanation: India is projected to
remain the top recipient of remittances
globally, and remittance inflows
significantly contribute to India's GDP.
The majority of remittances come from
high-income countries like the United
States, the United Kingdom, and

Singapore, not Europe.

D CIELET]Y

Answer (A)

HRAT: HRd i fdy TR W YN BT
MY UTdhdl &4 I8 BT A g,

3R UYUl JaI§ HRd & IHhd °9¥q
S § HE@yul ded ddl ®.
YR UV T I RSP,
gARcs fhied 3R RIMQR S 3=
31T ITet =M T 31d &, 7 fob R




Which of the following statements about the
4.0)

Bhuvan Panchayat (Ver. portal is

correct?

a) It is developed by the National
Informatics Centre (NIC).
It provides satellite imagery for
urban planning.
It supports decentralized planning
at the Panchayat level.
It focuses exclusively on disaster

management.

HaT T (Ver. 4.0) e & IR 7 fArafai@d
#d @ FlT T FAT GG 2

) 38 U gar faee S (TAIASHD)
¢anT fasfad fhar am=r gl

b) Jg AgW ST & AU 398 A vered
T ©l

c) & TAHd TR W fAhglhd IS &
ALY FIAT B

d) ¥g faIY & ¥ 3YST JaHUA W higd &l

By BHUNESH SIR



By BHUNESH SIR Explanation

Answer (C)

Explanation: Bhuvan Panchayat (\er. IRAT: Yd- U (HIDHRUT 4.0) Dl

4.0) is developed by ISRO to support Uaad &R IR fddbdlipd a1 &l
decentralized planning at the Panchayat AU B & oW W gRT famRid

level. Y fFarmar g




Which of the following statements

regarding the Geoportal "National

Database for Emergency Management

(NDEM Ver. 5.0)" is correct?

A.

It is developed by the Ministry of
Home Affairs.

It aims to support urban
infrastructure projects.

It provides space-based inputs on
natural disasters.

It focuses on agricultural

planning.

Sande e yeuw F for T

STEW (TASISUA HEHRIOT 5.0)' & R A

frafaf@a & & <l a1 Fua wd &2

a) U I HACA GaNl fapfd fhar amm gl

b) SHP 3oy A FAIET e IRITSTAT3N
T AT FEAT B

c) IE Uihideh U WX HARET-3MTRA

SAYC WGl Hidl &l

d) IE FN T | Fha gl

By BHUNESH SIR



By BHUNESH SIR Explanation

Answer (C)

Explanation: NDEM Ver. 5.0 provides WPIH:  TASISEH  THRU 5.0
space-based inputs on natural disasters quvl?lob 3MUGraf IR 3fdives-snumid
and aids in disaster risk reduction. 1YC UGIT hdl % 3R TSl SiRgH

H ®dt ¥ erad Hdl g




Consider the following statements regarding

the Geographical Indication (GI) tag for

Dodol from Goa:

1. Dodol is a rich caramel-like dessert
from Goa.

2. The state government is considering a GI
tag to standardize its recipe.

3. GI tags are recognized under the Paris
Convention.

Which of the statements given above is/are

correct?

a) 1 and 2 only

o)

c)
)

d

2 and 3 only
1 and 3 only
1, 2 and 3

Mar & s & v shifas aha (Smg) &1 &
TR # PAfaf@a syl w AR #3:

1. SISIeT T &I Teh FHY HRAS Sl Fers gl

2. U TWHR 3HH AW $ AThISd w & AT
S3MS ¢ W AR X W B

3. S3MS &7 & URT FedAqd & ded AT 9ed gl
3UFd HUAT H & DA/ HET §/82

a) shad 1 3R 2

b) dhae 2 3R 3

el 1 3R 3

1, 2 3R 3

d

)
c)
)




By BHUNESH SIR Explanation

Answer (D)

Explanation: All statements are correct SRS MaT I Sreid 3R Gﬁ&n‘{ e
regarding Dodol from Goa and the GI ‘ gfeedl & aR § IHI $2FI“EI§[%

tag process.




Consider the following statements about the

trends in remittance inflow to India:

1. India received USD 120 Dbillion 1in

remittances in 2023.
is

in remittances to India

2024

2. The growth

expected to halve 1in

2023.
3. The

compared to

slowdown 1s attributed to reduced
outflows from GCC countries.

Which of the statements given above is/are

correct?

a) 1 and 2 only

b) 2 and 3 only

1 and 3 only

d) 1, 2 and 3

)
c)
)

HRa A fwor yar i g9t & R & Aeafaf@a
FYAT W QAR AT

1. IR & a¥ 2023 & 9vyor & 120 oo 3@
sTmsnbdgul

2. R H USUT H Jefd 2023 @I Jofoll H 2024 H
3mel g i 3FEde gl

3. FAST FI HROT Gl ¢Af & A dfgddAd gl
3RIEd HYAT H  HIT-A7/H T §/82

a) haol 1 3R 2

b) shad 2 3R 3

c) %had 1 3R 3

d) 1, 2 3R 3




By BHUNESH SIR Explanation

Answer (D)

Explanation: All statements are correct IRSAT: HRA T UYUT UdTg Pl uqi%r &
regarding the trends in remittance ‘ aR ¥ gt $‘<’—F[“€I§[%‘

Inflow to India.




Consider the following statements regarding the 16th

Finance Commission (FC) of India:

1. The 16th Finance Commission is established under
Article 280 of the Indian Constitution.

73rd 74th
the FC to

The and constitutional amendments

mandate recommend measures to support

urban infrastructure exclusively.
to Urban Local

3. Intergovernmental transfers (IGTs)

Bodies (ULBs) in India are significantly higher

than in other developing nations.
4. The absence of the 2021 Census data impacts the
adequacy of evidence-based fiscal devolution.
Which of the above statements are correct?
a) 1 and 4 only
b) 2 and 3 only

, 3 and 4 only

)
)
) 1
) 1

d , and 4 only

HRT & 169 9 3maler (FC) & R # fef@ad syt w
AR fifo:
1. 169 a9 3MERT &I T ARAT HGUA & 3HJeog 280 &
dgd # IS El
2. 739 3R 749 @AUTAe FAYAT A THAT FH AV F7 F g
AT o 1 FAST F F U A AN Fe FT My
fear amr gl

ARG # R0 e Rl (qUed) & HA-EEN
BEAICRUT (3MSSieT) =g Tashraeler ¢RIl T Jefell & sy 3ifen
gl
4. 2021 I SO & 3RSt HqUiRATT  AIET-ImETRA
TSTRIYRT EATARUT hl gITCAdT &l FHTTIT Xl gl
3T HYUAT H A HlT-T T &2
a) hael 1 3R 4

By BHUNESH SIR



By BHUNESH SIR

Explanation: The 73rd and 74th
amendments mandate the FC to support
both panchayats and municipalities, not
exclusively urban infrastructure. 1GTs
to ULBs In India are lower, not higher,

than in other developing nations.

D CIELET]Y

Answer (A)

ST 739 3R 749 TRNYF FC &I
Jargdl 3R TR ifcidre qiHi &1
T B & oy sifFard #vd §, 9
fr fovly &U ¥ e g .
YRd § gUAs! & g SEeiel 3=
faeraiia = @1 gam § @A T,
31fP el o




Consider the following statements regarding the

initiative between RBI and ASEAN countries for
instant retail payments:
1. The platform for instant cross-border retail

payments is expected to go live by 2025.

2. Project Nexus aims to interlink domestic fast

payment systems (FPSs) of the participating
countries.

3. The founding countries include India,
Malaysia, the Philippines, Singapore, and
Indonesia.

4. The agreement for this initiative was signed
in Basel, Switzerland.

Which of the above statements are correct?

a) 1 and 3 only

b) 2 and 4 only

c) 1, 2 and 3 only

L~ L~

9

dchrdl el T & fav aRafiang ik snfdamer o & &=
Ted & dR # Aafaf@a sy W {ar M«

1. delel HAT R eI ol & folw &I 2025 dh osd
gl T 3FAE B

2. YIolae AFHE H 36T AN oo dlel o T Ee] BRE
e ReA (vwded) & 39E F Siger F

3. HEUME oRif A HRA, #HARWT, fhediw, fFamqr 3R
st anfAer g1

4. 3H UYgd & fov TdcoRels & SO # AT W §EAER
fhu U]

39Ed FUAT H A Fle-A e 82

a) shael 1 3R 3

)ao_cl?«r23ﬂT4

c) , 2 3R 3

d)ao—dsrz 3 3R 4



By BHUNESH SIR

Explanation: The platform iIs expected
to go live by 2026, not 2025. The
founding countries do not include
Indonesia; they include India, Malaysia,
the  Philippines, Singapore, and
Thailand.

D CIELET]Y

Answer (B)

PIHRU: Hd & 2026 db oled giH
®I I 8, 2025 TP ol | IRTH
o # SeRkmn wftd T8 3 38
YSs TMA B




Consider the following statements regarding

the proposed amendments in the MSME

Development Act 2006:

1. The amendments aim to 1improve dispute
resolution for delayed payments.

2. The amendments are expected to address the
changing needs of the MSME sector.

3. The Ministry of MSME was formed by merging
the Ministry of Small-Scale Industries and
the Ministry of Agro and Rural Industries.

Which of the above statements are correct?

a) 1 and 2 only

b) 2 and 3 only

c) 1 and 3 only

1, 2 and 3

)
)
)
)

d

wAraeAs fa@wmm fafawsd 2006 & wwafaa @nu«t
* gav 7 fArafaf@d sy« W faar #1:

1. @S @1 3eged faeliad e & fou fdarg
AT H FUR & Bl

2. TG @ TAUHUAS &F & dgoldl oiedl &l
W A Hf 374G Bl

3. MSME HATCT &1 IS oY 3T HAed 3R iy
AR AT 3T FIET FI FemR RaT =T 2T
3UFd HUAT H F HlA-F HE 82

a) dhael 1 3R 2

b) hdel 2 3R 3

c) sae 1 3R 3

)

d)y 1, 2 3R 3

By BHUNESH SIR



By BHUNESH SIR Explanation

Answer (D)

Explanation: All statements are correct IRAT: MSME fdh™ 3E=TH 2006
regarding the proposed amendments in A udrfad d=neEl & A6y H gt

the MSME Development Act 2006. HY ol %




Consider the following statements regarding
the International Seabed Authority (ISA):

1. ISA was established wunder the 1982

United Nations Convention on the Law of

the Sea (UNCLOS).
2. ISA ensures effective protection of the

marine environment from the harmful

effects of deep-seabed activities.
ISA's headquarters are located in New
York, USA.

Which of the above statements are correct?

a) 1 and 2 only

b

c) 1 and 3 only

)
) 2 and 3 only
)
)

d) 1, 2 and 3

Fay Wz wftewor (Isa) § IR F Fwafaf@a

Far W AR fifow

1. ISA & TUTAT 1982 H HG & Pl W HIF
USE TFASAA (UNCLOS) & dgd &1 a5 Y|

2. 3MSTHU gY FHg & AAGTEGT & glidieher Feral
q FHCT gATEROT S G AT AT FaT &

3. NSUAT F HEIAI AR & ~gdie #A FUd gl

3T YA H § HlT-8 Tl &2

a) &ad 1 3R 2

b) ael 2 3R 3

c) Had 1 3R 3

d)y 1, 2 3R 3




By BHUNESH SIR Explanation

Answer (A)

Explanation: ISA's headquarters are
located in Kingston, Jamaica, not New
York, USA.




Consider the following statements regarding

the term "AI Washing':

1. AT washing is a term derived from
greenwashing.

2. It refers to companies exaggerating
their use of AI to appeal to customers.

3. AI washing involves companies accurately
reporting their AI capabilities.

Which of the above statements are correct?

a) 1 and 2 only

b) 2 and 3 only

I and 3 only

1,

)
)
c)
)

d 2 and 3

'TIE AIRET" Mg F AR H FEfRf@d FyEl W
AR #3:

1. e aifer Aaarer § or =™r erse g

2. g Aghl T N A & [T TS & 39
3YAIT h Fel-TeThd UA Flal dlell hUAAT hl
SCECECTGINS

3. TS aIfAeT H HUfAAT I 39T TIHS &THAT3N
Tk RUIC LT AT g

3YYFT FYAT H § HlT-8 Tl &2

a) $had 1 3R 2

By BHUNESH SIR



By BHUNESH SIR Explanation

Answer (A)

Explanation: Al washing involves WPIHIU: U3s aiiRifT # Syt
companies making over-inflated or 3] Q&ﬂ§ gudrel & aR H 3

false claims about their Al capabilities, Ppolu MU g1 313 ad Ht g, 9 b

not accurately reporting them. B S e w0 I ROid sl B




Consider the following statements about the

International MSME Day 2024:

1. The day is observed annually on 27th June.

2. The theme for MSME Day 2024 is '"Leveraging
Power and Resilience of Micro- Small and
Medium-sized Enterprises (MSMEs) to
Accelerate Sustainable Development and
Eradicate Poverty in Times of Multiple
Crises.'

3. The event saw the launch of the "Yashasvini
campaign. "

Which of the above statements are correct?

a) 1 and 2 only

b) 2 and 3 only

c) 1 and 3 only

1, 2 and 3

)
)
)
)

d

HRTSET TATHUAS fRaw 2024 & IR # farafaf@d
AT W AR #:N:
1. Ig f¢aw 9fday 27 S & HA™T Sl gl
2. MSME f&a@ 2024 &1 fowy '@ad faea & ash
ol 3R &g Hehel & AT H IRET 3ol & v
FeA- oY AR ALIH ’PR & 3cIAT (MSME) I
afed 3R o=femae &1 e 3aEr gl

S0 HRIhA H ARG A wT YHRH
§3ﬂ|
3YYFd FYAT H § HlT-8 Tl &2
a) dad 1 3R 2
b) whad 2 3R 3
c) sad 1 3R 3
d)y 1, 2 3R 3




By BHUNESH SIR Explanation

Answer (D)

Explanation: All statements are correct [S2IRE2] &I?IT@H MSME f¢ad 2024 &
about International MSME Day 2024. ‘ IR # 9t Hy9 T8I B




Which of the following streams is NOT

offered at the newly inaugurated

School

Weapon Systems of the

(WSS)

Indian Air Force?
Surface-to—-alr weapons training
Space-based intelligence training

Cybersecurity training

Remote piloted aircraft training

ARAT a1 Q1 & AC 3qued fHv A0 aua
ey a (seequand) A AefafEa A
¥ Fl & T o @ f I 72

qdg ¥ gar H gAIR gietor

By BHUNESH SIR



SH SIR

Explanation

Agwer (C)

s

<II

{‘“‘\?:“}




Which of the following is NOT a|fAFIfaf@d & & HiT 4T ‘B’ ffr a5 A
reason for height changes throughout | d&eld &T HRUT sTel &2
the day? a) g<ar ﬁ'ﬁﬁfﬁ gﬁﬁﬁ'ﬂmi
a) Growth hormone secretion 1in b) g &1 g3l hl ‘-ﬁ(—g(ﬂ S EIED]
children ) fic &r QFfﬁ?F dohdl IRd@dsd
) TesT & R g8fsal & ©eicad H Jofe

Postural compression of the spine
Natural curvature changes of the
spine

Increased bone density during the

day

By BHUNESH SIR



SH SIR

Explanation

A Ewer (D)

s

<II

{‘“‘\?:“}




Consider the following statements regarding the

Goods and Services Tax (GST) in India:

1. The GST Council is a constitutional body
established under Article 279A of the Indian
Constitution.

2. The Union Finance Minister is the Chairperson
of the GST Council.

3. GST is a destination-based tax levied at each
stage of the supply chain from the manufacturer
to the consumer.

4. The GST Network (GSTN) portal is used for
registration, filing of returns, and payment of
taxes.

Which of the statements given above are correct?

a) 1 and 2 only

b) 3 and 4 only

c) 1, 2,

L~ L~

and 3 only

19

HRT # AT IR Far & (Awad) & s # arafaf@a
AT W AR I

1. SvEdr 9Rve $IRAT Ffdus & 3deoe 279 T & ded
Tuiftd e daufas fAs g

2. e faa AN Shewdr R & sreaer €

3. SUEdl T FAcT-3MUTRd & § ot A & 39
ek ITYI Wl & Tedsh TWOT H oE-AT STl gl

4. U@ Jcas (SUEdiveT) 9Ee &1 39T Goiiawor, Reed
SIEel el 3R A & T & v fhar Sirar g

33U HUAT H A HleT-A TE g2

a) hael 1 3R 2

b) shad 3 3K 4

c) sad 1, 2, 3R 3

dy 1, 2, 3 3R 4



SH SIR

Explanation

A Ewer (D)

s

<II

{‘“‘\?:“}




Which country is Nepal's largest|®lsd HT U AYT T FIA 3T AR
trade partner and the largest|Hgdel 3k el Ay &1 ged CE) qrd

source of foreign investments? %?

a) China a

'H‘LIG}'(‘I RIod

) et
)
)
)

)
) C
)

By BHUNESH SIR



il Explanation

A gwer (B)

."" R

. " *

- ’_'\‘ ' > ‘
‘ . -' 3 ..'. 3 ‘\** J .
HEETPT T I LR -

&# | Y .

. 3 et — i‘_ ! . .
’

s

<II

{‘“‘\?:“}




When 1is National Statistics

celebrated in India?

a) 29th June

) 30th

c) 20th October
)

b June

d) 1st July

Day| #Rd # IAT AfETH fGaw@ &a A«
STaT 87?
a) 29 9

By BHUNESH SIR |




SH SIR

Explanation

Agwer (A)

|"- .
b4 ’/ A
. - *,'" B > ‘
‘ i AR ’ : ‘\ * J .
- - -1 : : . K
HEETT T L -
*’# \ . .
. ! ’

s

<II

{‘“‘\?:“}




Which organization operates the

world's largest volunteer

ambulance service?

a) Red Cross

b) Edhi Foundation

c) Médecins Sans Frontieres
(Doctors Without Borders)

d) UNICEF

By BHUNESH SIR



SH SIR

Explanation

A Ewer (B)

|"- .
b4 ’/ A
. - *,'" B > ‘
‘ i AR ’ : ‘\ * J .
- - -1 : : . K
HEETT T L -
*’# \ . .
. ! ’

s

<II

{‘“‘\?:“}




Consider the following statements regarding the
impact of air pollution on death rates in Indian
cities:

]. Cities with cleaner air experience a higher
increase 1in death rates due to a spike in air
pollution compared to highly polluted cities.

2. Short-term exposure to PM 2.5 significantly
impacts mortality rates.

3. Mortality risk remains high even at PM 2.5
levels below the current Indian national air
quality standard.

Which of the statements given above is/are
correct?

a) 1 and 2 only

b) 2 and 3 only

C

1 and 3 only
1, 2 and 3

)
)
)
)

d

ARAT B F A W W a1 YU & G F IR A

ffef@a syat w AR +:1:

1. TOTo gal dlel AU H ’cIThsh Tgivd M HT Jolell H
ag YeWUT H TASH & FRUT Acg X H HAF g gl
gl

2. diUH 2.5 & 3eUdiiced SIEHA HF X @l AGeaqul &9
o ganfad #=ar gl

3. AR HRAT TSEFT aY IUTadl Aldsh d & 9Ivd 2.5
%Wq?aﬁﬂa?wa’@ﬂmamgmﬁl

3UFd UG A § DleT-AT/A WE /82

a) shad 1 3R 2

b) dhad 2 3R 3

c) sae 1 3R 3

d) 1, 2 3R 3




By BHUNESH SIR Explanation

Answer (D)

Explanation: All three statements are ARHT: R Rl H G & R a1
correct regarding the impact of air UgyUl & UHId & IR | gt a9 HyA

pollution on death rates in Indian Flﬁ%

cities.:




What is the primary reason for 1ISRO's
interest in the asteroid Apophis?

a) To prove India’s technological

a) 3dRET TAMSAT H ARG HT Tehoilchl AsSdT AT

superiority in space missions.

: |
b) To study and prepare for potential

planetary defence against asteroid b) &adlg IR & &ore garfad gk fr |m & faw

ERECEIEE 3T 3R JIR T

c) To establish a permanent space station

, c) &JGUE & UM Ueh TN 3HARET T FATTT
near the asteroid.

d) To carry out a commercial mining T |

operation on Apophis.

d) Apophis W U&k qIUIGTSR Weld HATAA el %

foT|

By BHUNESH SIR




By BHUNESH SIR Explanation

Answer (B)

Explanation: ISRO aims to study

Apophis as part of a planetary defence

mission to understand its terrain and dsUe G & fog JOR A & IN1Y

makeup and prepare for potential . To Yg e fRH & e & U I
asteroid threats. N U BT e ST 6




Consider the following statements regarding

the anti-radiation missile ‘Rudram-]1’:

1. It is the first indigenous anti-radiation
missile developed by DRDO for the Indian Air
Force.

2. It has a range of 100-250 km and can travel
at speeds up to Mach 2.

3. It enhances the Indian Navy’s ability to
neutralize enemy air defence installations.
Which of the statements given above is/are

correct?

a) 1 and 2 only

b) 2 and 3 only

c) 1 and 3 only

1, 2 and 3

)
)
)
)

d

fafFtor-qeft Aase 'sgA-1' F WOy A farafaf@a
FY6T W AR Hifgw:

1. ¥ ARAT ag Fo1 & fOU SIRSBN garr fasfd
ggell Eacell vd¥f3ves fAAEa gl

2. 3FHT IS 100-250 frely § 3R a8 &A% 2 d H afa
¥ AT X FhaT gl

3. U8 A & dY & USSP GHE FeA I
HRANT AT T &THAT I TGTeTl g

3YYFd YA H § HleT-4T/8 ol §/82

a) shad 1 3R 2

b) ehad 2 3R 3

c) Hhad 1 3R 3

d)y 1, 2 3R 3

By BHUNESH SIR



By BHUNESH SIR Explanation

Answer (A)

Explanation: Rudram-1 enhances the IRAT: ¥gH -1 URA™ a1 T Bl

Indian Air Force's Suppression of RNF diy &M (SEAD) &HAI & GHA Dl
Enemy Air Defence (SEAD) capability, deldl g, 7 b YR A1 &t |

not the Indian Navy's.




Consider the following statements regarding

the WHO's Global Polio Eradication

Initiative:

1. Wild poliovirus type 2 was eradicated in
1999, and type 3 in 2020.

2. Endemic wild poliovirus type 1 remains
in Pakistan and Afghanistan.

3. Vaccine hesitancy due to misinformation,
conflict, and poverty 1s a major challenge
in polio eradication.

Which of the statements given above is/are
correct?

a)

b) 2 and 3 only

c)

1 and 2 only

1 and 3 only
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seequast & dNgws Aol IoEdT wd F IR A
Aefa@d F¥a W AR #1:

1. dSes GQIflIaRA €89 2 & 1999 & 3R B9 3
Al 2020 H fAer fgar m=r i)

2. T SeTell QIfodaRRY ey 1 uifeeds 3R
HIMAEATT H @l ¢

3. el oo, HEY AR &l & HROT b Al oleh]
fgaferaree Qo 3eaelel # T F3T eilcl &
3YYFd FYAT H § HIT-A7/8 Tl §/82

a) $had 1 3R 2
b) hdel 2 3R 3
c) shael 1 3R 3
d)y 1, 2 3R 3



By BHUNESH SIR Explanation

Answer (D)

Explanation: All statements are correct IR WHO & Talad Wierd] 3+HIq
regarding the WHO's Global Polio ‘ Ued o g H gt $2FT“EI§[%

Eradication Initiative.




Consider the following statements regarding 'H’I{é’ R’ 98 & TN A AT s9«E W

the ‘Jadui Pitara’ initiative: g Y

1. It is tailored for children between the 1. Ig 3-8 ay &I 3y & Jg<daif & T IR Far
age group of 3-8 years. T B

2. It includes playbooks, toys, puzzles, 7. 3?”&‘?*%5} TCRIGE q%ﬁTﬁi qrEeT, FlreE,
posters, flashcards, storybooks, and Rﬁﬂ_?lfl; 3‘ﬁT ﬁ?% QT@T’T %y_l
worksheets. 3. g@f Tlta'zl' e AT 2020 F Jed AT
forar aram g

3UdFd FUA H F FiT-AT/F T g/8?

a) &del 1 3R 2

shael 2 3N 3

3. It is developed under the National
Education Policy 2020.

Which of the statements given above is/are

correct?

a) 1 and 2 only

b) 2 and 3 only

)
c) 1 and 3 only
) 1, 2 and 3

d




By BHUNESH SIR Explanation

Answer (D)

Explanation: All statements are correct IRAT: 'SIgs USRI Ugd & &y U
regarding the ‘Jadui Pitara’ initiative. 4t HYF Tl %




Consider the following statements about the

mineral Minami-Torishima

discovery near

island:

1. Researchers discovered 230 million tons
of minerals including cobalt and nickel.

2. The seabed contains 610,000 metric tons
of cobalt and 740,000 metric tons of
nickel.

3. Mining is set to begin in 2025 with
commercial extraction expected by 2026.

Which of the statements given above is/are

correct?

2)

b) 2 and 3 only

c)

1 and 2 only

1 and 3 only
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fAaEA-afRR v & e affs @9 & SR #
Arfa@a #yar W TEr il

1. QMYehdi3il o slalee 3R f@oa dfed 230 Afeas
T @il fr @

2. ¥ & 610,000 e e Fiaree 3R 740,000
Mfesr T [PApar B &

3. @elol 2025 H YE g dlell § 3R 2026 dH
aifofeas Aseyor & 37AE gl

3UFd HUAT H & DA/ HET §/82

a) $had 1 3R 2
b) hdel 2 3R 3
c) shael 1 3R 3
d)y 1, 2 3R 3



By BHUNESH SIR Explanation

Answer (D)

Explanation: All statements are correct
about the mineral discovery near

Minami-Torishima island.




the

Consider statements

following

regarding the octopus:

1. Octopuses have three hearts.

2. Two hearts pump blood to the gills,
and one heart pumps blood to the rest of
the body.

3. When an octopus swims, the heart that

delivers blood to the body stops
beating.
Which of the statements given above

is/are correct?
a) 1 and 2 only
b) 2 and 3 only

c) 1 and 3 only

3\ 1 "N 3 D
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AFegd F "oy A Feafaf@ad Fyat w AR
fifae:

1. 3FeE & de & 8 g

2. & Ger TeThsl H I&Fd 99 d &, IR e o
MR & arhr R{EAr #F T 99 HT B

3. J9 U AF9d Rl g, o R H I&d

qgulﬁ arell el Ugdhedl §¢ T SdT ¢

3UFd HUAT A A HlA-A1/H o §/8°2

a) had 1 3R 2
b) shad 2 3R 3
c) had 1 3R 3
d)y 1, 2 3R 3



By BHUNESH SIR Explanation

Answer (D)

Explanation: All statements are correct

regarding the physiological features of

octopuses.




Consider the following statements about

artificial intelligence (AI) washing:

1. AT washing is a term derived from
greenwashing.

2. It refers to companies exaggerating
their use of AI to appeal to customers.

3. ATl washing has no significant impact on
businesses or investors.

Which of the statements given above is/are

correct?

a) 1 and 2 only

b) 2 and 3 only

c) 1 and 3 only
)

d) 1, 2 and 3

FAA qEftEar (WE) 4R F IR A famfaf@a
FYAT W AR

1. e aifer Aaarer § or =™r erse g

2. Jg Tl T FNT N & &l THES & 39a
39AET &l del-delhd YA &l dlell YAl ol
Hefdd ar gl
3. THE QifRer &l

RSB
HgcdqUT JHT gl IS |
3ed HUAT H ¥ BTG/ TE §/82
a) $had 1 3R 2

b) hdel 2 3R 3

c) shael 1 3R 3

d)y 1, 2 3R 3

a7 A W @IS




By BHUNESH SIR Explanation

Answer (A)

Explanation: Al washing does have TPIHR: TS ‘ﬂ?ﬂé G I CR3IE]
significant impacts on businesses and 3R o= W™ n%c—q'cpf UHId Ygsdl

investors, such as overpaying for % oY URNRTST & INEEEIRED HITdT4

technology and failing to meet B BT 3R AT 333& ﬁwwﬁ
operational objective. N T fawd YE.
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